RR?)

POWERS YOUR
PERFORMANCE

PRO Missile

Clip-on manual
PRSI0073



Tools needed Missile Clip-on parts

X MmMmm X mm X
2x Extention SKI 65degr
/0) /[J':' (O
X, U o
2x Bracket handlebar  2x Bracket handlebar ~ 2x Bracket handlebar
bottom Top Spacer 2x Extention S-Bend
30degr
(T sc005050 | o)
2x Bracket Armpad 4x Spacer Armpad 2x Extention SKI 45degr

2x ExtentionTRI-Bend 20degr
1x Armpad Right 12x Bolts



Max/min Extention length




Max extention width

MAX MAX \

Y 50mm * 50mm

loi]




Exploded view installation




Spacers and bolt length

10,00

20,00

| U

[

)

40,00

M5x25 M5x35 M5x45 M5x55 M5x65 M5x75 M5x85
Spacer 10 20 30 40 50 60 70
(mm)
Bolt 25 35 35 55 65 75 85
(mm)




DEALER

+

LV N

POWERS YOUR
PERFORMANCE

WWW.PRO-BIKEGEAR.COM




